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1) 5X=z-y)X-(* -y )x+(y’-y°’2) (T X oo THR)
=(2-y)X° = (Z=y)(2* +2y+ Y )x+(z-Y)(z2+Y)yz
=(z-{C (P +zy+Y)x+(z+Y)zy}  CuamEmT< < )
(FHEMOFORIT X IO TIEH 3K, YIZ2WTHEH2KTH D)
=(z—-Y{Z-X)Y* +(2° = x2)y+(X* = xZ°)} x5y icon i)
=(Z-y{@z-x)y* +2(z—X)y —x(x+2)(z—X)}
=(z-Y)(Z-X){y* +zy—x(x+12)} GEBRETL < %)
=(Z2-y)(Z—=X)(y—x)(y +x+2)
=(X=y)(y-2)(z-x)(X+Yy+2)

E (x=0NY-9@-x)(x+y+2)

(2) 5X=a*+a’(-2b° —8)+(b* —8b*+16) (xFaic-ov T
s-c b 802 +16= (b2 —4)’ ={(b+2)(b—2)} = (b +2)*(b—2)?
20 —8={(b+2)%+(b-2)} i<
Gt ={a’ —(b+2)"Ha® ~(b-2)*}=--
Z (a+b+2)(a+b-2)(a-b+2)(a-b-2)
(3 1 ODLFIZONWCTER L, T TN T &7,
E (X+y+2)(Xy+yz+2x)
4) 5xX={(a+b+c)’-a’}-(b*+c?)
=(b+c){(a+b+c)’ +(a+b+c)a+a’}—(b+c)(b>—bc+c?)
=...=(b+c)(3a* +3ab+3bc+3ca)=-
Z 3(a+b)(b+c)(c+a)



(6) 3 (a+b)’=a’+3a’h+3ab®+b* kv
a’+b’ =(a+b)*-3a’h—3ab’ L 2 5D T,
53 = (a+b)* +c® —3a’b—3ab’ —3abc
={(a+b)+cH(a+b)*—(a+b)c+c’}—3ab(a+b+c)
@A a+b+c TS <~ T, SHICHET .
%  (a+b+c)(@® +b?+c*—ab—bc—ca)
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(X—4)? TE o= L x0pEE Q(X) LB< L.
X" (X* +ax+b) =(x—4)°’Q(X) +4'(x—4) - - - ®
s x=4%fRA.
4'(4*+4a+b)=0 Zhkvb=—4a-16- - - @
O OEL~DZERA LT BT, 2% R .
X' (Xx—=4)(x+a+4) = (x—4)’Q(x) +4’ (x—4)
Wil%z Xx—4TH DL, X (x+a+4)=(x—4)Q(x)+4’
M2 xX=4%2RATHEL ankED, TNEO~MUATDHE bikE

5.
Z a=-7, b=12
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X2 +3x+2, x> +4x+3TE - 7= L D% R (X),R,(X) & L.
X? +5X+6 THI» 7= L T DfE R(X), &2V % ax+b &5 L,
f(X)=(x*+3x+2)R(X)+2x+3 - + + D
f(X)= (X +4x+)R,(X)—x + + -+ @
f(X) =(X* +5x+6)R,(X) +ax+b + + -+ ®
X2 4+3x+2 = (X+D)(x+2) 5 X2 +4X+3=(X+1)(X+3) , x2 +5x+6 = (x+ 2)(x+3) | T TE
HLT, OL@OMiLIIX=-"2%2RAN L TEHTHZ LT,
—-2a+b=-1- - -®
@L@DWIIZ Xx=—3% AL TEHT L L T,
-3a+b=3- - -®

@OO%EfTITa,bnRED.
& —4x-9



B1HE, BF2HEINEN AL L ETHHE.

2b/a

Y
~ a-b

50

(1) RICKHEDGEE, HFEREBSEL TH &RV,

-3x+4
(x=2)(x-3)
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